US-4150-78-L SB

CompleteTrailer......ccccoocveeeiiieeeine, Pg.1

Axles, Winches, Bunks, and Fenders.... Pg.3



SINGLE AXLE TRAILERS (WITH BRAKES)

NOTE: THERE MAY BE MORE THAN ONE VERSION OF THE
REPLACEMENT PARTS AND/OR ASSEMBLIES FOR YOUR TRAILER

05/24/2004



SINGLE AXLE TRAILERS (WITH BRAKES)

[N

o O WwWwhN

10
11
12
13
14
15
16
17

18
19
20

21

22
23
24
25
26
27

28
29
30
31

32
33
34
35

36
37
38

39
40

NOT SHOWN

1750668
1750669
1767938
1781576

1768605
1768569
1768573
1767936
1767937

1781575

1768560
1768565
1768552
1768536
1768781
1767941
1767933
1768545
1768679
1768588
1768628

1768629

1768574
1768577
1768783

1768784
1781120
1781121

1767945
1768537
1781102
1768534
1768523
1781108

1767942
1781095
1781112
1781108

1768547
1768596
1768587
1768818

1768819
1768546
1768531
1768813
1768814
1768782

1768576

1767917
1767943
1767940

1781577

TRAILER, 4150-78-LSB-ST-GALV MY04
Galvanized. Complete trailer assembly
TRAILER, 4150-78-LSB-ST-ARCW MY04
Arctic white. Complete trailer assembly
TRAILER, TAIL LIGHT RH 8-WAY SUB
Without plugs. May need alternate part. Check your trailer.
TRAILER, TAIL LIGHT RH
With plugs. May need alternate part. Check your trailer.
TRAILER, KEEL PROTECTOR 12"
TRAILER, BOLT 1/4"-20 X 3.5" TAP
TRAILER, WASHER 1/4" FLAT USS
TRAILER, BAR LIGHT ID SUBM
TRAILER, TAIL LIGHT LH 8-WAY SUB
Without plugs. May need alternate part. Check your trailer.
TRAILER, TAIL LIGHT LH
With plugs. May need alternate part. Check your trailer.
TRAILER, NUT HEX 1/4"-20
TRAILER, LOCK WASHER 1/4" MED SPLIT
TRAILER, U-BOLT 7/16-14X 2.5"X 5 5/16"
TRAILER, U-BOLT 1/2-13X 3 1/16"X 4.5"
TRAILER, FENDER ASSY 14" LH F/15" TIRE
TRAILER, GROMMET SNAP-LOC BLK
TRAILER, AMBER SNAP-LOC LIGHT #3367
TRAILER, NUT NYLOCK 7/16"-14
TRAILER, SPRING BUSHING F/HOOK SPRING
TRAILER, BOLT 9/16"-12X 3.25" HEX HEAD
TRAILER, ST225/75D15 LRD 6H-GL
Tires for galvanized trailer
TRAILER, ST225/75D15 LRD 6H-SL
Tires with silver rims
TRAILER, NUT LUG 1/2"-20X 13/16"
TRAILER, NUT NYLOCK 9/16"-12
E}IQAIII(_ER, AXLE ASSY BRAKE W/SPRING
ac
;RAILER, AXLE ASSY BRAKE W/SPRING
inc
TRAILER, FRAME WELD - AW US-3400/4150LSB
Arctic White
TRAILER, FRAME WELD - GL US-3400-LSB
Galvanized
TRAILER, CLEARANCE LIGHT AMBER
TRAILER, U-BOLT 1/2-13X 3 1/16"X 5.25"
TRAILER, BOLT HEX HEAD .375"-16 X 1.75"
TRAILER, FLAT WASHER 3/8"
TRAILER, SAFETY CHAIN/HOOK 40" W/CLASP
TRAILER, PLATE SUPRT PIVOT MNT UPR/LWR SGLKIT
Kit contains both upper & lower
TRAILER, REFLECTOR AMBER
TRAILER, ACTUATOR 6000#
TRAILER, NMMA CERT LOGO
TRAILER, PLATE SUPRT PIVOT MNT UPR/LWR SGLKIT
Kit contains both upper & lower
TRAILER, NUT NYLOCK 3/8"-16
TRAILER, TONGUE JACK 10004
TRAILER, U-BOLT 3/8-16X 4 1/16"X 4"
TRAILER, WINCH ASSY 2000/2300# W/ROLLER & CAP
Arctic white. May contain a strap or a cable.
TRAILER, WINCH ASSY 2000/2300# W/ROLLER & CAP
Galvanized. May contain a strap or a cable.
TRAILER, NUT NYLOCK 1/2"-13
TRAILER, FLAT WASHER 1/2"
TRAILER, BUNK ASSY ABS 2"X 3"X 20" W/30" BRD
Arctic white
TRAILER, BUNK ASSY ABS 2"X 3"X 20" W/30" BRD
Galvanized
TRAILER, FENDER ASSY 14" RH F/15" TIRE
Arctic white
TRAILER, LOCK WASHER 1/4" EXT TOOTH

TRAILER, BRAKE LINE PLAS 252"

TRAILER, HARNESS WIRE 25' W/25' GROUND/PLUG
TRAILER, PLUG 9.5" PIGTAIL 2-WAY W/1/4" RING ]
Without plugs. May need alternate part. Check your trailer.
TRAILER, HARNESS WIRE 9’5" PIGTAIL W/PLUG

With plugs. May need alternate part. Check your trailer.

05/24/2004



SINGLE AXLE TRAILER PARTS (WITH BRAKEYS)

AXLE ASSEMBLY

BACK OF
TRAILER

WINCH ASSEMBLY

NOTE: THERE MAY BE MORE THAN ONE VERSION OF THE
REPLACEMENT PARTS AND/OR ASSEMBLIES FOR YOUR TRAILER

BUNK ASSEMBLY

FENDER ASSEMBLY

05/24/2004




SINGLE AXLE TRAILER PARTS (WITH BRAKES)

CO~NO T WN -

10
11
12

13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

29
30

31

32
33
34
35

36
37
38
39
40

1768783
1768784
1768828
1768829
1768818

1768819

1768813
1768814
1768781
1768782

1768681
1768678
1767952
1768551
1768594
1767897
1768532
1767902

1767903
1767904
1767905

1768570
1768547
1768606
1768730

1768731

1768617
1767682
1768546
1768613
1767898
1768550
1781104
1768637
1768541
1768531
1768534
1768633
1768540
1768607
1768610
1767889
1767890
1768518
1767891

1767892
1768690
1768691

1768812
1768683
1767689
1768744

1768745

1768528
1768548
1767680
1768553
1767704

TRAILER, AXLE ASSY BRAKE W/SPRING

Black. Complete axle assembly

TRAILER, AXLE ASSY BRAKE W/SPRING

Zinc. Complete axle assembly

TRAILER, AXLE ASSY BRAKE US-3400/4150

Black. Replacement axle with hubs assembled
TRAILER, AXLE ASSY BRAKE US-3400/4150

Zinc. Replacement axle with hubs assembled
TRAILER, WINCH ASSY 2000/2300# W/ROLLER & CAP
Arct;)cI white. Complete winch assembly. May contain a strap or
acable.

TRAILER, WINCH ASSY 2000/2300# W/ROLLER & CAP
Gatlj\llanized. Complete winch assembly. May contain a strap or a
cable.

TRAILER, BUNK ASSY ABS 2"X 3"X 20" W/30" BRD
Arctic white. Complete bunk assembly

TRAILER, BUNK ASSY ABS 2"X 3"X 20" W/30" BRD
Galvanized. Complete bunk assembly

TRAILER, FENDER ASSY 14" LH F/15" TIRE

Arctic white. Complete fender assembly.

TRAILER, FENDER ASSY 14" RH F/15" TIRE

Arctic white. Complete fender assembly.

TRAILER, CAP RUBBER DUST

TRAILER, CAP DUST W/HOLE

TRAILER, PIN COTTER .156"X 1.75"

TRAILER, WASHER FLAT 1.75"

TRAILER, BRAKE HUB 12" 6-BOLT CUPPED

TRAILER, BEARING CONE 1.75"

TRAILER, BOLT 3/8"-16 X 1" HEX HEAD

TRAILER, BRAKE KIT 12" LH

Black

TRAILER, BRAKE KIT 12" LH

Galvanized

TRAILER, BRAKE KIT 12" RH

Black

TRAILER, BRAKE KIT 12" RH

Galvanized

TRAILER, U-BOLT 1/2-13X 2 1/8"X 6"

TRAILER, NUT NYLOCK 3/8"-16

TRAILER, KEEL PROTECTOR 18"

gil?AIII(_ER, AXLE WELD 2"X 3"X 83.5" 76"C/C DOWN
ac

;RAILER, AXLE WELD 2"X 3"X 83.5" 76"C/C DOWN
inc

TRAILER, SPRING 5-LEAF HOOK 6" ARC 2750" CAP

TRAILER, SPRING PAD

TRAILER, NUT NYLOCK 1/2"-13

TRAILER, SEAL 2.125" ID

TRAILER, BEARING CONE 1.25" (15123)

TRAILER, NUT JAM 1"-14 SLOTTED (CASTLE NUT)

TRAILER, GREASE FITTING

TRAILER, CAP END 3"X 3"

TRAILER, BOLT 1/2"-13 X 4.5" HEX HEAD

TRAILER, FLAT WASHER 1/2"

TRAILER, FLAT WASHER 3/8"

TRAILER, WINCH 2000#

TRAILER, BOLT 1/2"-13 X 7" HEX HEAD

TRAILER, ROLLER 4" BOW BLUE

TRAILER, CAP END 4" BLUE

TRAILER, BRCKT BOW ROLLER

TRAILER, BRCKT BOW ROLLER

TRAILER, SAFETY CHAIN/HOOK 17" CLASS 3

TRAILER, WINCH MOUNT CHANNEL

Arctic white

TRAILER, WINCH MOUNT CHANNEL

Galvanized

TRAILER, WINCH STAND WELD 24"

Arctic white

TRAILER, WINCH STAND WELD 24"

Galvanized

TRAILER, BUNK ASSY ABS 30" BOARD/CARPET ONLY

TRAILER, WASHER (NYLON SHOULDER)

TRAILER, BRCKT ROLLER BEAM ADJUSTABLE

TRAILER, BUNK SUPPORT TUBE WELD US-3400/4150

Arctic white

TRAILER, BUNK SUPPORT TUBE WELD US-3400/4150

Galvanized

TRAILER, BOLT 1/2"-13 X 3.5" HEX HEAD

TRAILER, BOLT LAG 1/2"X 1.5"

TRAILER, BUNK PIVOT

TRAILER, BOLT 1/2"-13 X 1.25" HEX HEAD

TRAILER, FENDER 14" (LH? SGL

Arctic white. With light hole

40 1767705 TRAILER, FENDER 14" (RH) SGL

Arctic white. With light hole
41 1768727 TRAILER, SPRINGER HANGER WELD 14" F/15" TIRE
42 1768561 TRAILER, SCREW 1/4-15X 3/4" PH PAN HI/LO

NOT SHOWN

1767899 TRAILER, BRAKE LINE 3-WAY DIVIDER BLOCK
Flaxle assembly

1767900 TRAILER, BRAKE LINE HOLD DOWN CLIP
Flaxle assembly

1767909 TRAILER, BRAKE LINE STEEL 12"
Flaxle assembly

1767919 TRAILER, BRAKE LINE STEEL 80"
Flaxle assembly

1768524  TRAILER, WINCH STRAP 2"X 20" W/HOOK
F/Winch assembly

1768567 TRAILER, SCREW HEX WSHR HED TEK UNSLTD IND
F/faxle assembly

05/24/2004



	Table Of Contnents
	Complete Trailer
	Axles, Winches, Bunks, and Fenders

